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- UREDIS AT28 ] A1(3,44,05782))
AT 540000 33,000] A289,000(0 EBARIRE WA 704 20H( A28, 00022)
0 72|
= A 168,440 115,330 53,110 MEEDIS AT28 CfEH| ABEM B MS(2, 0003
- METDI2 ATSY (O TOF 2 AN(22, 00082
222 54 2,621,000 2,802,019] A241,0090 ZD+E S DIBHA(/241,009%2)
O N2z
smom 7l 2 - SRITZST BHY A7 AR 180, 00082)
Eaa S A M0.246) 277,435 1628111 spymom mer 2Ag) (2 22704 2004(/2,8072)
- SOHAA Q|2 A2 OI/\}(5’(IX)I-|°_I)
O Szl 2 EEANE A2 SH240082)
AT AL 22 976,730  782,578| 194,152|0 EISRH 2 SH AL HXI(43,20082)
O ZIE BARY| 29U(151,0052)
O N2zl 29%)] 2 o FEET AEED,0082)
Mefl SES)| 2l 38,754 276,014 62,7400 AWl FOEOBIM ARRISE(Al RHSD| OV ?UH’é*il)(48 600i4°4)
9 24 Biie 2 ZIPIOIE SXICK 20 S 204
23 simA 27 5,177 64,90 A8,743(0 SSHIZIIRA R lst BRISTA LA
O NSl S9BR0] A5 0/Ho= oIt 0= /76 4072
NESE 422252l | 7,004,600 6,342,966 661,723 0 2RIED: HEmed U UH Helb| 45 391,08, 082)
O TIAISH]: RS B4 MoimH2 Alxles 20(A28 8072
SASRWDIE ) 22l 295,680| 259,200 36,480(0 RIZRIEZ: D] NESS D &5(33,6008)
oo O N2ZIH]: JIEE 24| #oNg E20 12 24(/
ShERHDIE Nl | 6,346,608 6,112,629 24,004 g sais Il B0 A SO, 182
SNgzDIE 442 O AEHI: el 87 2] 5%(R 5082
Z2HAIR! AN 00°,480]  027.800) 3788010 mpksishl: FrID Z201 TSR SO0 A0ER)
TSR 243 4480 1079 3,600 ARBRHI: HE R0iold SH 12 S94(3 6022
CAENET O N2l 0124 22408 4% - 22 Ael A(@ 4032
THESTHE MY %6414 1150 56,864 0 jiEons: Saie TRiERlA HEH A(45.66458)
~ O 222 X2 2kA 9 A20NE M m/\-l(g%)
BISTUOMES | 10781104 10.04.21) 76,680 oo gano gmas ol 19 N2 SR 62
O e, 23323 38 20| U2 3%(1 4 525)
1= 122984 130606 A63.0% ) gum: sprmon ma AN 12 2003 )
— ‘l‘l —
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it

ol

12100 & &

(XIS Z Xl )

(ail

|
At

—

et P179~180])

CV R0 0 o b o PSEL= I tImE==l BA(E2) AR
NEEN 7,904,813 4,830,936 3,003,877
200 AIQ4=2! 41,509 13,000 28,509
210 FAEAIQ22 15,000 13,000 2,000
212 Al22 42 15,000 13,000 2,000
212-09 JIEIAIRE 15,000 13,000 2,000| OREAIR DEEXR
THAREDFoH Z04(2,000)
NEEAIE DHXHE L DHEIE AIRS 15,000 13,000 2,000
220 LAIEAII2 17,761 0 17,761
223 BRI BE40) 1,761 0 1,761
223-02 KHHBX2S 840 1,761 0 1,761 OREAIR HIBAHIA
UHEX2 giekz2 pla
NEESAIE HISAHIA X2 otat 1,761 0 1,761| (1,761)
224 J|Et4=2 16,000 0 16,000
22407 12|42 16,000 0 16,000 | OQ2E& =Tt &0 X}
U2 20] Al (16,000)
NSTSHRA UKD 2 16,000 0 16,000
230 KIS - 223 8,748 0 8,748
234 WEN2 8,748 0 8,748
234-02 J|EFDIENE 8,748 0 8,748 O2021 BIHE ZAt
KR ARS Bh
NS <28 U= 6,000 0 6,000 Orpyoie = @ Qut
|
1)OIOINES DENz 1,300 0 1,300 | HEHE £12(8.748)
NEI|MESZOIMY 28t DEI2 500 0 500
NE22sY 8t BE2 4883 0 488
1)2=ClAlY S8t DIEN2 460 0 460
500 2X2 7,878,022 4,814,831 3,063,191
510 2NEX2S 3,267,702 1,482,694 1,785,008
511 2NEX2S 3,267,702 1,482,694 1,785,008
511-01 2D8X2 1,130,914 1,482,694 A351,780| OREAIR AlEE 3}
_ XI2 0IE A (A268,90)
DANSZHAZLEA 2RI 630,000 630,000 O OREAIR SHHAZIAIL
1)ELHLH 22 15,000 15,000 o| 83 EEU B
17|28 ZoxFI22 134,924 134,924 0| F2i0I NIZED o5 &
KR4 22(A64)
1A MSASA2R0| X 327,936 328,000 ABA| 09152 Ut K
ooz oo 12 AR AT ERI(1,500)
1)7-r |o§ =Oo | |‘L 1,500 O 1,500 %m%%.‘?’i&"a /\f%
oJjE=2 U5 of 2H| Z(84)
NRIISE 2522 A 1,554 1,470 84 o1 Sei0] St
12020l EABHTNR) AL 20,000 12,000 8,000 | XI DI21& =JK(8,000)
511-02 2R SLMEHS|HEX2 2,136,788 0 2,136,788 | CP023 MSAIR =3}
ERDHA Al 22 SR
NIID2SAIE DMEIE A 2,100,000 0 2,100,000 g2 AlE(2, 136, 788)
DDIRIAAIR DHETE HE 4 36,788 0 36,788
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SN2 -2 Ol Ab oH F A 0 ko HR=2 HY(BY) A
50 Al - GHIERZ2S 4,610,320 3,332,137 1,278,183
521 Al - GHIEX=2S 4,610,320 3,332,137 1,278,183
521-01 Al - CHIE®EZ2S 4,610,320 3,332,137 1,278,183 OAZZAIIIX X
AR Al A A 29 018F(16,667)
NESAE hEAHIA A 47,520 56,952 29,432 | S xs sitioten g
NEEAE FUZHMEEIIY XA 15,193 7,964 7.229| 8%l E2(A23,780)
DNHSAIR ALSHSAI (CSAIE 4 U &) 1,486,540 1,069,551 416,989 | OLSAIZ HHSAHIZ
450, 0 T =1 2A(A9,43)
DASSAAZESH 2SR 1,890,000 1,890,000 0| OFEAS SHIZREE
1)IEEAR 22 X 621 621 o /1% Rk 20H7 29)
O3 HSA| BEAIR
NEMNSH 22 4,000 4,000 O Apsaitist X! Al 29
NH oS FZYM AAl 48,000 48,000 0| £&(416,%9)
OYAHS RISZHSAS
NSIIE HlZ2 XA 28,000 28,000 0 2240] XKD AL ©
NEI2E H=28 23X N 28,000 28,000 o| A 22(A19)
L ORI HsHEE 2
1)Z8 sA2 o=y X 2,400 2,400 O e 4l 15 520)
AR ZEHsA2R20| XY 98,381 98,400 ~19| OK2E ChB = 2
o I 294 NIl £21( A14,690)
1Z8E ASHEE 29 15,520 0 18,520 "oics siw o 1oy
NHSE TASY X8 U 2 10,320 25,010 A14,690 | T 2ITH(10,000)
o = OS2=X iR AR A
HIHES HSNE NS , .000] =
NERMES HEDH 1S 15,000 0 15,000 <o e s (10,750
NSy Ss82 249 12,000 0 12,000 | O=H =il 2 ==
NN Zaz 800 0 goo | &e! &I=(800)
OR)ISE 25| Al
NRIISES L XA 750 0 750 | X2 DRI 2A(AT.25)
NRIISE 2522 AY 12,559 13,812 A1,253 | OZUZ0| SHEH A
I N CHAH 2HTH(16,000)
)2 D0l SAFHTNR) Ar 40,000 24,000 16,000 | popas M =31
NIBDES AT DHEIGE HEY 840,000 0 840,000 | I Al S22 &0
i _ M2 Al1&(854,716)
1)DXIAAIR DMER4R 24 14,716 0 14,716
700 2RSS HH 5,082 3,105 2,177
710 BRAS 5,080 3,105 2,177
715 X2 SHE2 5,082 3,105 2,177
715-02 Al - CHIE X2 SEE2 5,082 3,105 2 77| OBEAE HiEAHIA
NHIEZ2 vteiz ol2
NESAE hSAHIA EX2 tha 5,082 3,105 2,177 | DIMEE(2, 177)
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2HIOIH Mol &t HEHXIH Z Ml

(Ol AtOF P354~367, MBEAIHAMEA P9~65)
(Bt ®El
SN - ZE - S9I(EH) - HIRAY - BES ol st She | Hms2 | mae) s |AER
PNE=REYS |l 11,041,528 7,560, 142 3,481,386
= 1,130,914 1,482,694 A351,780
rag 2,136,788 0 2,136,788
A 4,610,320 3,332,137 1,278,183
- 3,163,506 2,745,311 418,195
NoZH 54 9,177,756 5,838,273 3,339,483
= 630,000 991,300 A361,300
2 2,136,788 o| 2,136,788
Al 4,294,590 3,055,515 1,239,075
2 2,116,378 1,791,458 304,920
IIgXE & 5 270,790 250,292 20,498
S0 L AM30 X~ 62,930 70,880 A7,950 9~10
201 B3| 12,900 21,850 A8,950
01 APSR2elbl 12,900 21,850 A8,950| OBXZ2X¥ TX|
1)5;;235%%—0}2&@% SESIREE 500 500 0 %g'gg@%%
E#Z s12lt] ) DY ¥ Y WS
)EAINSHII228SAS ALY 1,400 1,400 0 2t 19 )
AMZO HODS U BRXS 10,000 16,000 0| CxOpI= Zx a2
ROPIs ZRAY ZHE 29 1,000 0 1,000 | =B =2 €100
203 AP=IY| 15,030 14,030 1,000
03 AIH=RQ=ZIY| 15,030 14,030 1.000] OXSag Al o1z
25)-0i= =l 895 &2 =913 7
1)ﬁg;gzggg§&g9m TESIERTES 1,930 1,930 0|55 Aguﬁa@i,m)
1)XIAAMIE DIZIER! HESD 7 ARET 1,000 0 1,000
DRABRELS RS 5,000 5,000 0
OIHZH= AMEFADEFY) 4,700 4,700 0
1)0IAZRIZ CHOIAI S S Z=T| 2,400 2,400 0
307 DI2H0/H 35,000 35,000 0
00 SIRAAARIBE 35,000 35,000 0
1) 2ATATS X 35,000 35,000 0
oI AR JHE XIS 136,860 136,860 0 11~12
201 B3| 35,700 35,700 0
01 AtR22id| 12,000 12,000 0
1NESUI ME S 12,000 12,000 0
02 3529| 500 500 0
ESHK 2H 2B Q3 500 500 0
03 A2 Y] 23,200 23,200 0
1) GHOIAIZOHE =& 23,200 23,200 0
203 ALEFIY| 1,500 1,500 0
03 AIM=FIQQ=ZIY| 1,500 1,500 0
DHANEHE 2=7 1,500 1,500 0
308 XXIEHISOIE 99,660 99,660 0
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SA - Z - C9l(3) - HIRAE - BAS Ofl s e HREZ |BaE) AR | SRR
11 ZOI2S0ICHEHE AR 2 EtArI | 99,660 99,660 0
NEAHKIILRSZE S FHOAHSASHI 99,660 99,660 0

=409 22X =200 71,000 40,000 31,000 13-14

203 PREa| 1,000 0 1,000
03 AIMERYD=AY| 1,000 0 1,000 O==xr =1 o2
NEAIIY 22X Z2XNNY YR 1,000 0 1,000 | TS 7RHA(1,00)
308 KHEIZHHISOIA 70,000 40,000 30,000
11 ZIIZS0ICHEHE AR 2 EtArIH| 70,000 40,000 30,000| 022Xt =Xi= X
NEAIIY ZXS KA 60,000 20,000 40,000 g%g%i%ﬂ?g
NSAJIY A0 10,000 0 10,000 | Afed =XI(10,000)
HEAD ™! 23t 5,424,486 1,915, 180 3,509,306
2 2,136,788 0 2,136,788 |02 02 x2—
Al 2,403,969 1,164,894 1,239,075 igﬁgﬁ@ggg
2 883,79 388,986 494,743 A361.300)
MEAR 255 147,933 213,991 166,058 15-16
Al 62,713 71,583 18,870
S 85,220 142,408 A57,188
201 UBr2 Y| 17,284 19,114 21,830
01 AFRZ2IH] 17,284 17,714 A430| OREENIE BXE
NEEAE A5 25 RS 2,400 2,400 of X, =efeld A
E NS 21 22,30)
NESAIE AEES HEEHY| 5,904 5,184 AT20| OAAS OFF E
NESAIT ALS OHREA AIRRE 79 1,000 1,000 o| F& S4(70)
) o OMol I8 AHC]
NESAIE O= Al =xtolg 22| 2,400 2,400 0| 3= 20 2w =)}
DAZSHSIHLE X2 HIB 1,500 1,500 0 (1,293) _
NEEAT BRBAY REY 248 480 480 0| 5ot
DEEAE A0l I8 AHIDE 29 3,600 2,400 1,200
203 PREA| 2,900 2,900 0
03 AIMERYD=FY| 2,900 2,900 0
NESAE SA5 QXX 2,900 2,900 0
307 QI2H0|H 113,749 177,977 164,228
Al 62,713 71,583 18,870
S 51,036 106,394 155,358
02 DIZFEAAIIEE 83,364 162,049 178,685 | OHSAH I A3 0
IS0 2EAY
NESAIZ HSMEIA AR 63,360 75,936 A12,576 g%éézéﬁfj@
Al 47,520 56,952 A9,432]| At2t Z2(A75,000)
2 15,840 18,984 A3,144| ONE E3 T3IX
DAIRZATIIIT X ALY 20,004 1,113 8,891 g%gf% S 01
06 2= 30,385 15,928 14,457 | CBITI= AR T/
DESAE WAL X 30,385 15,928 14,457 | the =HTH(14,457)
Al 15,193 7,964 7,229
2 15,192 7,964 7,228
401 NEHIZSY 14,000 14,000 0
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SA - ZB - S9(32) - KISAY Ot G HRE2 |BaE) As | A
01 AlZ6| 14,000 14,000 0
NESAIE DML (EMT) L AlLS 14,000 14,000 0
Sxel
HEAT NS NH(CSAS B4 1,715,239 1,569, 189 146,050 17-18
SX) (REA)
A 1,486,540 1,069,551 416,989 [O=I0/B4
(1268,900)
2 228,609 230,738 A2,039
401 AZ0I2E0] 1,715,239 1,569, 189 146,050
A 1,486,540 1,069,551 416,989|0=4 0184
S 228,699 230,738 2,039 [(£268,900)
01 AlEH| 1,715,239 1,569, 189 146,050 | O202351 MZAI
1)IERIAAIZ OBH0IE 24 1,543, 182 0 ASAIE M=Etiet
NS B M
Al 1,337,424 0 (146.050)
T 205,758 0 2022 AT A0
1)DIXIAAIR CCTV A 13,018 0 (2 sEEs o
A 11 283 0 23} 0BIOIS &4,
Sl DA, ==
- 1,735 0 2 9l YAl LEEA
1LES2SAIE CCTV WA 84,777 0 MH| E)
Al 73,473 0
e 11,304 0
NYSBSAIE SEIH DA 43,935 0
Al 38,077 0
e 5,858 0
)EBESAIE YEIH| DA 30,307 0
Al 26,283 0
2 4,044 0
SIRESAIE DHEIE 2 3,500,000 ol 3,500,000 19-20
Z 2,100,000 ol 2,100,000
Al 840,000 0 840,000
2 560,000 0 560,000
401 AlZHI 2| 3,500,000 ol 3,500,000
F 2,100,000 ol 2,100,000
Al 840,000 0 840,000
2 560,000 0 560,000
01 Al 3,500,000 o|  3,500,000] C2omu HEAR
NEBESAIE FRE A (SXHL) 3,500,000 o| 3,500,000 QQZZ@%%
F 2,100,000 ol 2,100,000
Al 840,000 0 840,000
= 560,000 0 560,000
DEXIAHAIRE DAERIR e 61,314 0 61,314 D12
7 36,788 0 36,788
Al 14,716 0 14,716
e 9,810 0 9,810
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S - BB SRA(S) - AIRAY - BES o &k e HRs |BaE) As | NER
401 Al2HIZ 2] 61,314 0 61,314
2 36,788 0 36,788
Al 14,716 0 14,716
= 9,810 0 9,810
01 AlZH] 61,314 0 61,314 O203e HEAE
=x}&kA A AA
DKM =X e 61,314 0 61,314 ggéogigfg;
2 36,788 0 36,788
Al 14,716 0 14,716
2 9,810 0 9,810
S5 o SloE 2 3,482,480 3.672,801|  ~190,321
= 630,000 630,000 0
Al 1,890,601 1,890,621 0
2 91,85 1,152,180 190,321
SotorE el 35,760 34,334 1,435 0324
101 Q14| 32,360 30,779 1,500
04 JRIH2EXS24 32,36 30,779 1,500 | O IEAIRR B4
= o = 2 252 Z0(1 50)
)2INEARY BE2 31,169 29,679 1,490
D EPEI =] 1,200 1,100 100
201 st oy| 2,900 3,05 A 155
01 Ab222lt] 2,516 0,671 A185| O=BOIZIRIA 4
1) SIS 2E] ARt 1,120 1,120 0 jﬁ&%waz
)2 EN CIMEIS (SLRIZE) 1,3% 1,551 INEI
02z 384 384 0
UMK CCTV ®IIQ2 384 384 0
203 REAL| 500 500 0
03 AMERLDEZ| 500 500 0
PP CIRS=ESY 500 500 0
NELNAZAZA 28 3,403,550 3,413,550 210,000 0526
= 630,000 630,000 0
Al 1,890,000 1,890,000 0
2 883,55 893, 550 0
201 Yt oy| 3,402,550 3,412,550 10,000
= 630,000 630,000 0
Al 1,890,000 1,890,000 0
2 882,550 892,550 10,000
01 ALl 3,402,550 3,412,550 A10,000| OAZR o3 522
AE2 solENa 3,150,000 3, 150,000 o RFHIZ(A10,000)
= 630,000 630,000 0
Al 1,890,000 1,890,000 0
2 630,000 630,000 0
AEH 2gZHE a42 242,550 242,550 0
NAEH 292 RN 10,000 20,000 10,000
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S - BB SRA(S) - AIRAY - BES o &k e HRs |BaE) As | NER
203 AL=AY| 1,000 1,000 0
03 ANEEXALEZIY] 1,000 1,000 0
NAZR 245 2 =& 1,000 1,000 0
HREEE == o 2 27,540 8,520 19,020 2728
201 Yerea| 27,040 8,020 19,020
01 AfRz2l| 27,040 8,020 19,020 O&EERRk) P
SRS 55
1) RESAMETB0|5| PSlact 5,040 2,520 2,520 ;@gﬁ;@h
NHRSET S= 2 ®2)|2 1es 22,000 5,500 16,500
203 ALEZY| 500 500 0
03 AEEXAQEZIY| 500 500 0
1)REY AMIF R=F 500 500 0
= olEsxe 285 I 15,000 195,000]  ~180,000] OZMe=EI mEs | 29
307 BIZHOIA 15,000 15,000 o] M= Al DiEs
: ’ (180,000)
02 CIRIZAAIREE 15,000 15,000 0
EAQBEERE XD 15,000 15,000 0
TR 2 KR (FHEAL) 621 621 0 30
Al 621 621 0
201 Ysrea| 621 621 0
Al 621 621 0
01 AFRZ2I| 621 621 0
NIIRBAN 22 X8 621 621 0
Al 621 621 0
=l AE U =2 B5 1,740,532 1,596, 485 144,047
= 500,914 491,304 9,520
Al 315,730 076,602 39,108
2 923,888 828,469 95,419
Nks =9 X2 1,106,301 1,004,229 12,072
= 477,880 477,924 ~64
Al 208,781 208,800 A1
2 419,660 407,505 12,155
SN2 X X 17,000 14,800 2,200 31~32
201 Ysrea| 16,000 13,800 2,200
03 SA2H| 16,000 13,800 2,200 OXHZES sAl
saaS TIYREY 2 16,000 13,800 2,200 | I 54(2.200)
203 ALEZIY| 1,000 1,000 0
03 AEEXAQEXIY] 1,000 1,000 0
)s442 BIHREH 29 Yeg 1,000 1,000 0
SopH N =2 23,000 23,000 0 3334
= 15,000 15,000 0
Al 4,000 4,000 0
2 4,000 4,000 0
307 QI2H0IH 23,000 23,000 0




dET
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SAL- ZE - SI(31H) - Al of e 52t | &
= 15,000 15,000 0
Al 4,000 4,000 0
- 4,000 4,000 0
02 2I2tFe 23,000 23,000 0
NED 23,000 23,000 0
= 15,000 15,000 0
Al 4,000 4,000 0
- 4,000 4,000 0
28 S48 134,924 134,924 0
= 134,924 134,924 0
307 21zt 134,924 134,924 0
= 134,924 134,924 0
02 212t 134,924 134,924 0
DElL= 134,924 134,924 0
= 134,924 134,924 0
B gois 96,000 96,000 0
Al 48,000 48,000 0
- 48,000 48,000 0
201 2eH=gH| 27,000 27,000 0
Al 13,500 13,500 0
- 13,500 13,500 0
01 AR 27,000 27,000 0
DESEVR=-PIR=N 27,000 27,000 0
Al 13,500 13,500 0
- 13,500 13,500 0
307 212tolA 69,000 69,000 0
Al 34,500 34,500 0
- 34,500 34,500 0
02 2IZHE&AL 69,000 69,000 0
Nes 69,000 69,000 0
Al 34,500 34,500 0
- 34,500 34,500 0
JIZHI= 103,505 103,505 0
Al 28,000 28,000 0
- 75,505 75,505 0
307 212tolA 103,505 103,505 0
Al 28,000 28,000 0
= 75,505 75,505 0
02 212t3 103,505 103,505 0
DE) 103,505 103,505 0
Al 28,000 28,000 0
= 75,505 75,505 0
detd BS5= 56,000 56,000 0




S - B - S9\(30) - HIRAY - BAS I e HDS2 | B8 AR | AT
Al 28,000 28,000 0
= 28,000 28,000 0
307 I2t01F 56,000 56,000 0
Al 28,000 28,000 0
= 28,000 28,000 0
02 CIRIBAAIREE 56,000 56,000 0
HEBY=ZH DI XY 56,000 56,000 0
Al 28,000 28,000 0
= 28,000 28,000 0
FEZ =M OIS XS 4,800 4,800 0 4344
Al 2,400 2,400 0
2 2,400 2,400 0
307 I2t0|F 4,800 4,800 0
Al 2,400 2,400 0
= 2,400 2,400 0
00 SIDAMAIBE 4,800 4,800 0
1) HBHOIZY| X 4,800 4,800 0
Al 2,400 2,400 0
= 2,400 2,400 0
oaE AHH=AS R2{0 NS 655,672 656,000 128 4546
= 327,93 328,000 A64
Al 98,381 98,400 A19
= 229,555 229,600 A5
307 DIZH0IH 655,672 656,000 128
= 327,93 398,000 64
Al 98,381 98,400 A19
= 229,555 229,600 A5
00 SIZIAMAIBE 655,872 656,000 A 128| ORIt 720
1R FEYsAST0INY 655,872 656, 000 A1og | HEDHES = 12
CHAF 26 A 128)
= 327,93 398,000 64
Al 98,381 98,400 A19
= 229,555 229,600 A5
=x0I2R2IX 15,200 5,200 10,000 4748
201 Yt oy| 14,700 5,200 9,500
01 Al 14,700 5,200 9.500| OFislel 22
1)SXILS 3o Basg 12,600 4,200 R
2mIIjol AL
1)OIMLRD ZEEII 202 B 2,100 1,000 1,100| g2 =31(9 50)
203 ALEZIY| 500 0 500
03 AEXAQEZIY] 500 0 500| O=KeRisl 2=
N=x9IRs 2E =7 500 0 500 | A1 (30 )
CASY S4 362,939 347,339 15,600
Al 25,840 25,010 830
= 337,009 322,309 14,770
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SA - B . C9|(3]) - MIRAK - BaS il Ao o HREZ |maE2) as | A
A A=HEE 29 181,915 170,772 11,143 4951
Al 15,520 15,320 200
— 166,395 155,452 10,943
101 2124d| 101,624 102,267 2643
04 JIZtHIZ RIS 2% 101,624 102,267 1643 gjﬁigﬁé ;c%
NIRINZ22X el 90,328 91,124 A9 iz ra)
NAUEE 10,4% 10,343 153
2)=2010322E 4,065 4,101 236
2)AUEE 3,208 3,190 13
2) Lo E)|QAEE 411 392 19
)L 1,581 1,595 A4
2)MTHEE 1,236 1,085 171
1) I =4] 800 800 0
201 LBH2H| 47,040 42,640 4,400
Al 9,520 9,320 200
— 37,520 33,320 4,200
01 At22t2IH| 45,400 41,000 4,400 gf;@fﬁ%ig
T 22X AXZ 28,000 24,000 4,400| iy )
=] 4,000 4,000 0| OAlZ, &Hl 22lbl
Al 2,000 2.000 0| S%(400)
- 2,000 2,000 0
1 ELHE 5,000 5,000 0
Al 2,500 2,500 0
2 2,500 2,500 0
N2ZesE 7 3,600 3,600 0
Al 1,800 1,800 0
- 1,800 1,800 0
1)AIE ZH| 4=2lH] 4,800 4,400 0
Al 2,400 2,200 0
2 2,400 2,200 0
02 SZ2gH| 1,640 1,640 0
N&EILS 840 840 0
Al 420 420 0
- 420 420 0
NES=HAZ 400 400 0
Al 200 200 0
— 200 200 0
NAIEEE XYl 400 400 0
Al 200 200 0
2 200 200 0
203 YR 3,000 3,000 0
03 AIHFRIARFXIY 3,000 3,000 0
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S - "B - SRI(E]) - HRAY - BES ol &k She | nmsz |maE) s | HEE
NESE IsHEd 29 dRFN 3,000 3,000 0
206 =4l 12,000 12,000 0
Al 6,000 6,000 0
- 6,000 6,000 0
01 M=l 12,000 12,000 0
1) €lY| 10,000 10,000 0
Al 5,000 5,000 0
- 5,000 5,000 0
N&eAE st 1,000 1,000 0
Al 500 500 0
- 500 500 0
N2s 200 200 0
Al 100 100 0
- 100 100 0
N22 800 800 0
Al 400 400 0
- 400 400 0
301 LBEdZ 12,351 10,865 1,486
10 AL =RRAAB A3 12,351 10,865 1,486 | ONRISRRH 2=
01A¥(1,486)
naz 9,600 8,114 1,486
1) 24| 1,764 1,764 0
1) W S| 656 656 0
1) II=d] 331 331 0
401 A&EBIZS0HY| 4,000 0 4,000
01 Al&H| 4,000 0 4,000 | OXIGk= B2t it
Al&(4,000)
N2EsE AERX B4l 4,000 0 4,000
405 RHaHE S| 1,900 0 1,900
01 ML =2EFHSHI 1,900 0 1,900 | OH=I| & ==ZH|
N ES! 700 0 200 | Al&(1,900)
YA 1,200 0 1,200
N28 TAEY X8 2 29 29,280 24,180 5,100 52~53
Al 10,320 9,690 630
- 18,960 14,490 4,470
206 =8l 29,280 24,180 5,100
Al 10,320 9,690 630
- 18,960 14,490 4,470
01 =4I 29,280 24,180 5,100 | O&XIE KIRACHA
S L ADIE A%
DAY 85 20,640 24,180 £3,540 | g AIS(5.100)
Al 10,320 9,690 630
T 10,320 14,490 24,170
NADIEAXS Y B2 8,640 0 8,640
CAsY 245 X 151,744 152,387 AB43 54~85
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Ol DIoH Ol |55
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ABA3 | O3 ZA &4

NT796

153
N36

13
19
A4

116,375

9,584
38,297
68,494

109,212

27,000
82,212
64,012
15,000
49,012

34,012 *HIFAIH A28

20,000

10,000 > 52 =1 1]

2,500 | OBIASE S

1,400

72| S BA(3.0)
10| OIS

30,000

AT
Ofl &K

102,267
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91,124

10,343

4,101
3,190
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1,595
1,065

800
28,540
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24,000
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0
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S - BB SLA(EH) - AIRAY - BES 04l &b e HRSZ | B3 MR | Ma
eSS #=0d 15 30,000 0 30,000
Al 15,000 0 15,000
2 15,000 0 15,000
203 YREAY| 1,200 0 1,200
03 AIRZEZQIREAIL| 1,200 0 1,200] OS2=X) N2AI
E22X XA AREX 600 0 600 if;j(%jg Azl
E2s= gesx 600 0 600
301 YsiEE= 24,000 0 24,000
Al 12,000 0 12,000
2 12,000 0 12,000
14 JIEI2 A2 24,000 0 24,000 OS2I=H =28
o2y S2H 2 24,000 0 24,000 (%?035?5' e
Al 12,000 0 12,000
2 12,000 0 12,000
401 AlEgIL =] 20,000 0 20,000
01 A& 20,000 0 20,000 | OBteiA=0IE X4
1)BIPA=0IE DAXLHE B 2 20,000 0 20,000 | A8l ¢1€(20,000)
RIIsE 2522 48,590 48,737 N147 58~59
= 3,054 1,470 1,584
Al 14,109 13,812 297
2 31,427 33,455 A2,028
201 Ysr2gy| 4,590 3,512 1,078
Al 800 0 800
2 3,790 3,512 o78
01 Al 4,590 3,512 1,078 O2IIS2 TETY|
NRIISS T8 U 25X Y 2,500 2,000 50| 72U S = 219
254 AIK(990)
DRSAEIIRRS 319 &M & 490 0 10| p===Ke0s| 2
1)SH Zalz 1,600 0 1,600| HIZ DRAS(A1,512)
2 800 0 800 | (1,600)
301 YstEE2 3,000 0 3,000
= 1,500 0 1,500
Al 750 0 750
2 750 0 750
14 JIEI2AE 3,000 0 3,000| O2JI=2 22|
NRIISS Yot Xa 3,000 0 3,000 é’éﬁi&;g%ﬁ“'
= 1,500 0 1,500
Al 750 0 750
= 750 0 750
307 DI2H0IH 41,000 45,205 4,225
= 1,554 1,470 84
Al 12,559 13,812 21,253
2 26,887 29,043 £3,056

_24_




_ _ _ polE] _

S - BB SLA(EH) - AIRAY - BES 04l &b e HRSZ | B3 MR | Ma
05 oiotgleD 41,000 45,205 205 OS2 Ea)
Nese ¥z 41,000 45,225 A4, 05 | ME A2 Digk 22

(14,295)
= 1,554 1,470 84
Al 12,559 13,812 A1,253
= 26,667 29,043 A3,056
2090] ZABHTN) AL 100,490 60,000 40,490 6061
= 20,000 12,000 8,000
Al 40,000 24000 16,000
2 40,490 24,000 16,000
201 Lsr2ay| 490 0 490
01 Azl 490 0 490 | OHetAEIISI23]
DHQHHEIIIRS 30| &A 4 490 0 40| H=E L (40)
307 DIZH0lA 100,000 60,000 40,000
= 20,000 12,000 8,000
Al 40,000 24000 16,000
2 40,000 24,000 16,000
05 oI2gEa 100,000 60,000 40,000 OZ 00 =43
o Z=Als o AlQi T DRKS 20t
1)Z 20| ZHEHTNR) Al 100,000 60,000 40,000 4 18
= 20,000 12,000 8,000
Al 40,000 24000 16,000
2 40,000 24,000 16,000
e 13,000 26,180 33,180 | ¥AIZAIR B2 B | 6263
201 Lsreo| 1,400 33.880 A2 g0 | PSS L S285
o1 : ’ A Slamo 2]
01 AtR22ltl 1,400 33,880 A32,480 | 0E22 HEH| @
NEAH0Y B2 42 S 900 900 0| S=5= 225 818
o O[Bt( A 15,000)
203 e=xY| 800 1500 AT00| A 2 phE=EE
— = SR O AT17,480)
ARERID=ZY , A .
03 Al | 800 1,500 7001 St Mol 2
1)J1EEe] Rz 800 1,500 AT00 | AZH| 24 AT00)
206 M=l 5.000 5,000 0
01 K=Hl 5.000 5,000 0
ISR oorE 2oy 4,500 4,500 0
DAIASOIZ o) 500 500 0
301 YLD 4,800 4,800 0
14 JEIEAR 4,800 4,800 0
PE=EN-PN= 4,800 4,800 0
302 OIFLTFHRAD 1,000 1,000 0
02 CIRIITHY= =S AS 1,000 1,000 0
NDAIAHE BAS 1,000 1,000 0
S 20921 H| (XS 2 RT) 123,240 125,384 A2, 144
1= 123,240 125,384 A2 144
o= 123,240 125,384 A2, 144 64~65
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HSH A ZEM (XIS Z I

(Ol &t2F P147 ~148]

HEET(20214) 01 JE=(20224) S o
o 20242 HI D
HEAY | 22 | A ety | o (AS)
Gl AFOH | X|ZOH K|S ZHOH (f| ALK | K& OH K& XoH|(2023 ) B o
1=
" 3,000, 000|3,000,000| 1,947, 797| 1,062,208 - -
HEAE
AlEsitis X2 | 838 O A=Yl ol
(22X | (g) 3,000, 000|3,000,000|2,567,936| 432,064 - - 620, 19512 1|5
212))
=2
- -1620, 139| A6, 139 - -
(B-A)
IIE
" 6,132,864 | 6,12,8% | 2,07, 123 | 4,086,741 - -
I\_-I%}\|§ == ] A [=
Fxterd | T | 6,132,864 (6,132,854 | 448,90 16854 - - %?'if'li %f
Mg | (B IR K=
=2t
- - 23m777 Vi - -
(B-A) oo
J|= O A ZD 13101l
3,655,350 - - - - 3,500,000 | 155,350 (2} 2023 2
(A) Jist) 201 o
HBESAE |y
DMERE 3,655,350 - - - - 3,500,000 | 155,350
He (B)
=2t
(B-A) B ) ) ) ) )

202295 FA0IE MAZXMXISE M1

(Erel: M3
o= 202214 2023
e S AIOIRUR o ot A =
MEAY | 5o

482,088

g 9 1,752,036 (141 417.800)

(H1: 64,279)
HENT | oo SAREAIR EX0 I3 SZ0|S2ute
sesitgsr xig | NEYETH | wime iz opos e I AT e Az M@ z02,
LS A|A bl ATl DAl HI= 1,752,036 | (AlBI: 417,809) Az ADY U I HE=ES =XAID J|E
(_I_T | & (}\|/\_'H|) A2 WA H (?t” 64279) A5 Z2 & D) == =241 J|8t
o g A7) = : ozt =2 =g AR AAL IR
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SNCE-B-E.-2 Off AF oM 1A & 04| Ao [ImE=1 BA(Z2) AR
UR}2 = D} 3,625,646 3,326,247 299,399
200 Ml 13,000 11,000 2,000
210 AEHQI2e 13,000 11,000 2,000
211 THArUTHA-Q 13,000 11,000 2,000
211-00 ZRTHAFICY 13,000 11,000 2,000
A=A SEXIKME AFSIEZMDIL O 400k 014}
JNI=PN T 13,000 11,000 2,000| (5344)
500 X2 3,484,908 3,283,832 201,076
510 2 NBEX2E 616,381 352,005 264,356
511 2NBE2S 616,381 352,005 064,356
511-01 2D2x2 190,954 352,005 A161,071| OFEZ LA
. _ M B (2-2)
1)&%5 A3 Z2EES I|‘O\:U\}g(%‘§1c>) 120,954 ONY A8 =A
NABIEAMIIY AFIHZH] XIRAM 70,000 (~6,013)
511-00 2IRHUHELF HEX2 425,427 0 405,427 gli EEEON e
jiE
1) (0B AFBI =D KIS (LXI2IES) 201,907 E4(75,000)
_ OAgl 12 82
NAEIED I AZIEEE X~ 62,340 Gl AFIOH( A 24,968)
1) B A AR AL 86,180
500 Al - GHIBE2S 2,868,527 2,931,807 263,280
521 Al - GHIBE2ES 2,868,527 2,931,807 63,280
521-01 Al - CHIE®E2S 2,868,527 2,931,807 63,280 | CEINESESE(3,081)
K| DEF2 K2 A OAlH| DHEE 24
NXSSSHL AL 215,827 (80-70%), (A 2,6%)
1NUX2IME AEEAL Q14| 102,882 OZ2AE &3
Ol A B (37,500)
NoEEJIg |4 37,500 O3 2o o)
- s 2 OllAHE A (82,658)
1) (IH)ABI=DIY XIR(LXI2IEE) 47,112 e 2 Dl
DABIEZHIIY AFIHZH] KIS A} 21,000 (A 15,854)
DABIRIIY ABlRE 2T 14,546 OHNESISE
SAlE AElEss : (110,991)
1) HEL X2 ALY 85,860 OA 22 S3HAI
OIS (A 222,000)
NZZ22AMY 2,333,800
NEEEY HHEA S5 ALY 10,000
700 B SULYE I 2H 127,738 31,415 9,323
710 2RAUS 127,738 31,415 9,303
715 X2 SHE2 127,738 31,415 9,323
71501 2NEX2S0E2 10,300 3,300 7,000
NASE Has2 YAMHA AR A 5,000
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20239 AU Misolldr HEH 2 Xic| Sl

(Gl &tOF P368~379, MFAIRLHM P70~106)
(Er9l: HE)
SA - H - S9(E) - MIRAY - BaS of et Ghs | nmsz | macy) as | M
PSRN 5,792,680 6,145,630 A352,950
= 190,954 352,025 A161,071
= 425,427 0 425,427
Al 2,868,527 2,931,807 263,280
- 2,307,772 8,861,798| 26,554,026
DEFHN 2ENSKSH 5,546,450 5,916,329 A\369,879
= 190,954 352,025 161,071
= 425,427 0 425,427
Al 2,765,645 2,826,233 260,588
- 2,164,424 2,738,071 Nb73,647
Lol ps 811,559 1,083,034 N2T71,475
= 120,954 126,967 26,013
- 690,605 956,067 N265,462
KNSAL el &HE 358,971 591,814 A232,843 4l
201 gk=at| 26,740 27,790 21,050
01 AtS2teitl 16,740 17,790 A1,000( O2X=2 XA
Olat o1y
Nexel #2022 g3 HED S22 E S 2,700 2,700
NN DESXSAHH 24 6,500 6,500 0
NS ALY 1,540 1,540 0
DNEXeIZM us| 228 ME S 3,000 3,000 0
NS Al stz 98t 222 MA 3,000 3,000 0
03 AL=EH| 10,000 10,000 0
DNEXEIZ s A FIH| 6,000 6,000 0
DEXeIZA s FHIis 2,000 2,000 0
DNEXEIZ 8gs A 4118 2822 M 2,000 2,000 0
203 g4 8,000 8,000 0
03 AHFAHIR=AY| 8,000 8,000 0
xRl F= 0l - 2 83 UENT 245t PR 4,000 4,000 0
NAESXSHAHH 28 gRFN 3,000 3,000 0
DNEXeIRHE 28 gRFa 1,000 1,000
301 Let2d= 14,751 10,074 4,677
10 NBI=SRE24S 14,751 10,074 4,677|Osa &
== 12,000 7,323 4,677 P02 OO0
124l 1,764 1,764 0
[pImE=s1 656 656 0
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SA - BB - SRI(3]) - HIRA - BAS Ol &bt She | wmsz | mas) us (MO
1)Il=d| 331 331 0
307 QIZtol& 309,480 545,950 A236,470
02 QIRHEAAIIE R 94,480 351,950 A257,470| ONl S2AHE
NA-7 A& - 2N AT/ EEAY 54,000 160,000 A 106,000 2§%§01_|+_[[P§ Ne
1)Z01& dX2IEHE XA 10,000 10,000 0
)28 L 2IEQAIE BorAM Mol 30,480 0 30,480|0 X4 8= AHY
AL A Al HA
05 QIIREZ 215,000 194,000 21,000 O+ 2 3ot
NesSsXdH 294 X 215,000 194,000 21,000 (252508
MUz XA 1,700 1,700 73
201 etE3| 1,700 1,700 0
01 AtS2teltl 1,700 1,700 0
NMEAZ A AlosY 350 350 0
NMEUZ Sig 25t 282 ME 1,350 1,350 0
MR 22t A, 452 94,440 12 74
201 etE3| A, 452 94,440 12
01 AtS2teltl 51,600 51,600 0
Next=s 51,600 51,600 0
02 2324l 42,852 42,840 12
Nt & 3323, RBHIES S 42,852 42,840 12
AEE FEE Lhiel Al 241,908 253,934 212,026 74
= 120,954 126,967 26,013
- 120,954 126,967 26,013
307 QIZtol& 241,908 253,934 212,026
= 120,954 126,967 26,013
- 120,954 126,967 A6,013
02 QIRHEAAIIE R 241,908 253,934 A12,026| OLBLEE =2
NASE RS NANHIA L2l ALY 241,908 253,934  A12,02 ?ﬁg@iuﬁ% ooy
& 120,954 126,967  £6.013| %)
- 120,954 126,967 A6,013
Olsksit 5 & 2 114,528 83,300 31,228 77
101 21Z4d| 10,800 64,800 254,000
04 JI2HH22HSES 10,800 64,800 Ab4,0001 O&H HIXI0 [HE
2012t A4
112 22X 2124H| 10,800 64,800 A54,000
201 etE3| 2,728 18,500 A15,772
01 AtS2teltl 1,000 7,500 26,500
NAIREE S A28 7 1,000 7,500 26,000




SH - BB - SRA(S) - MITAY - BAR of Sae | vmsz |macs as | R
02 33244 1,728 11,000 A9,272| OZE HXIN IE
2HIR L
N33 ¢ 33 1,728 11,000 29,272
401 AIZHIZ 20| 101,000 101,000
01 AlZH] 101,000 0 101,000| O&& HXIH TE
ENHIE Ay
NEEE A & UFHAL 22X JA4=7 2A 80,000 0 80,000
NEEH &0 & SA&H 8 SA 15,000 0 15,000
NEEH JIEL BIIF EAH A 6,000 0 6,000
Y 2 sl A& 3,668,071 3,750,722 A\B2,651
Al 2,549,627 = 113,910 A113,910
Al 2,492,510 57,117
- 1,118,444 =+ 1,144,302 A\25,858
LXeldlEe s45t 41,300 57,800 216,500 79
201 Ler=g| 38,500 40,000 21,500
01 At22tciH 25,000 25,000 0
NEEES ¢ &2 MA 15,000 15,000 0
NAIRES 7 2 A2 M, QEUHIZ S 5,000 5,000 0
DEICHY HAT2MEIA 2 5,000 5,000 0
03 HAL2EH| 13,500 15,000 AT1,500| C21d e =2
1)FHe2E SAE S| B8 12,000 12,000 0 ?Hféﬁ igg’;&
DFHGLEE PO JH#HIE 500 1,000 A500
e i HIE 500 1,000 £500
Nees & JEXl S A 500 1,000 A500
203 =4 2,800 2,800 0
03 AIMFAHRFLH 2,800 2,800 0
DEXeIdE e85 gRFa 1,800 1,800 0
DFgeas gR=a 1,000 1,000 0
SEIZAE 3,338,000 3,179,440 158,560 81
Al 2,333,800 2,222,809 110,991
- 1,004,200 956,631 47,569
101 el2id| 3,284,000 3,125,440 158,560
Al 2,298,800 2,187,809 110,991
- 985,200 937,631 47,569
04 JIZN22NSES 3,284,000 3,125,440 158,560 Oz/H &z &
UIEEEE &5
1)Z0IXE 01 24H] (AIHI70%, HI30%) 2,681,991 2,544,453 137,538 | (21142129, 1502
Al 1,877,3%4 1,781,118 96,276 —9,620)
- 804,597 763,335 41,262

_32_




_33_

SH - BB - SRA(S) - MITAY - BAR of Sae | vmsz |macs as | R
1)2¢A - =4I AlHI70%, 5130%) 280, 170 280, 170 0
Al 196,119 196,119 0
= 84,051 84,051 0
1)ACHE & 2 (AIHI70%, 72H130%) 321,839 300,817 21,022
Al 225,287 210,572 14,715
2 9,552 90,245 6,307
201 YLered| 50,000 50,000 0
Al 35,000 35,000 0
2 15,000 15,000 0
01 AlR22lH| 50,000 50,000 0| Careora
SPECE
1)OHEBE 22 (AlBI70%, 7HI30) 45,846 45,846 0| (21 600)
Al 32,092 32,092 0| OKIES Ot =2
= 13,754 13,754 0
1)SHSE 2 (AlBI70%, 7HIZ) 4,154 4,154 0
Al 2,908 2,908 0
= 1,246 1,246 0
203 Y2z 4,000 4,000 0
03 AMERISEZIH| 4,000 4,000 0
EZZ22AY Y2 A5 S 4,000 4,000
N BE ML AN (HEALY) 288,771 284,662 4,109 83
Al 215,827 212,746 3,081
2 72,944 71,916 1,028
101 0124 271,771 267,662 4,109
Al 203,827 212,746 £8.,919
= 67,944 71,916 £3,972
04 JI2AH22REES 271,771 267,662 4.109] Oz 2
AATEDE AL
1)Z0IXE Q1218I(AlBI75%, 7HI25%) 205,018 222,588 2,430 (xHe13-9, 160
Al 168,763 166,941 1,800 9,6202)
2 56,255 55,647 608
1)2HAIHI (AIHI75%, 2H125%) 16,500 16,500 0
Al 12,375 12,375 0
= 4,125 4,125 0
1)4CHE B 2 (AIHI75%, T2H125%) 24,753 23,074 1,679
Al 18,564 17,305 1,259
= 6,189 5,769 420
1) 22 QA S AlHI75%, HI25%) 2,200 2,200 0




S - BB - SRA(SH) - MTA - of Soe | vms2 e

Al 1,650 1,650 0

- 550 550 0

1) WEHI(AIHI75%, 72H125%) 3,300 3,300 0
Al 2,475 2,475 0

- 825 825 0

201 LEk=ad| 6,000 6,000 0
Al 4,500 4,500 0

- 1,500 1,500 0

01 AtR2teitl 6,000 6,000 0
1)erHEE 2 (AIHI75%, 72H125%) 3,300 3,300 0
Al 2,475 2,475 0

- 825 825 0

12922 2L (AIHI75%, 72H125%) 2,700 2,700 0
Al 2,025 2,025 0

- 675 675 0

203 =4 1,000 1,000 0
03 AIMFAHRFLH 1,000 1,000 0
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01 At222ld 9,789 86, 159 6,630
SHHIA|E
DESUIAIE AIAE SH 70} 3,391 71718 236,308 ot D T
1)DBE MO AIAE! SN 204 38,708 0 38,708 EZOBEE)HI(H SW=0K
38,708
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EHOIX 2¥ ARER| 1,800 1,800 0
405 KHaHEISH] 20,000 67.576| ~47.576
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02 SIS0t A2HAS A 64,417 114,592 A50,175 (ORHAITH RIZTHE
. e MASHHFES
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S3OI0IH g & S22 XA 25,450 80,520 /85,070 ?( %ﬁli A 137~138
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SEES AT
DAIMZZ ARSI 450 0 450
207 S 25,000 80,000 /55,000
01 AESAHI 25,000 80,000 55,000 | OATIHLY] (CHA!
23 2A) 2
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203 He=&d| 450 450 0
03 AMFAHI=AH| 450 450 0
DE FESUEXID| E5 RFEH 450
301 LEtEdS 101,600 101,600 0
02 ABI2HAESGIS(FHAAS, XLHH) 100,000 100,000 0
NEESASZID| oM 100,000 100,000 0
14 JIEt2d= 1,600 1,600 0
NYagd st 1,600 1,600 0
FESHAIAY NEF 3,726,570 4,237,640 511,070 141~143
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1)DHIY SR FS O AR 210l A 08 55,000 0 0
1)QIBIIs 22 AZERIE BN 25 T0H 5,500 0
HES0 2 HOINE 2P| 2Y 346,603 267,201 79,492 144~145
201 sk 65,749 40,450 25,299
01 Al 48,749 40,450 8,299
1)BHOI4A SHAISW 0|22 0N 48,389 40,000 8,389 | CPeaa =010l M
= Ay 2LOlAA
29120}(8.389)
0)eiopcE 45,000 40,000 5,000
0) S 3,380 0 3,389
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DHIEEES HANT 2A=E 360 450 A OZME XIS JIE

S (A90)
02 3324 17,000 0 17,000 | OHAELLS Hhat
oI Jlel| A7
H&(17,000)
NIHIBEES A= S5 It 17,000 0 17,000
203 HRP=&| 900 900 0
03 AIMFAHD=XH| 900 900 0
NEBES ARFZY| 900 900 0
405 KHAHESHI 280,044 225,851 54,193
01 A =SEH S 280,044 225,851 54,193
1)U SHAIAE WX 48,008 225,851 54,193 | OZSMHAIZE S
L - 45 WH 2=
HYUYTAAE(SAY) D
1) KIAl ( ) WAl 53,287 0 0 (~25.851)
DAIAE B2EXH £28 wil 79,120 0 0| ORTHRIHAIAE S
2)Z2SH SW 7} 58,527 0 0|35 wHl Alg =8
(180,55
2)NH SoH 20,593 0 0
DHIEZENY &sst £26 Wl 99,539 0 O|OMYEEM s
o 5 524 WA
2)2s3k S/W F20H 84,609 0 0 (99.5%9)
2)NH SoH 14,930 0 0
ZESA ASEZA LELSR Xel 3,200 17,200 A14,000| ¥ SHS AHH 146~147
(XHASHSHI A13,800)
201 2EeH=EH] 2,300 2,500 A200
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DAIEEZAL Z=S 2 =3 7204 1,000 1,000 0
203 HRP=4| 900 900 0
03 AIMFAHD=XH| 900 900 0
NEESA ASESA RFE| 900 900 0
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201 LBt2A| 1,515,994 1,371,131 144,863
01 AtR2teld 64,950 58,366 6,584
NYBEN RANE2E X 204 13,000 13,000 0
DAIRRSSD| A28 0 7,000 7,000 0
1PCOIZ2l SI01E 0 22,000 0 22,000 |O2UZtAIAE =Y
CZ N2l =&
(22,000)
DHIAHEDIL AAIRIY =& 3,200 5,600 A2,400 [OEIIRIHE] 24
(22.40)
NSala o & ADE 204 3,000 3,000 0
CIISARI1D] &t 3,000 3,000 0
NMEY PEMIMAEX EEX LA 13,750 26,766 A13,016 [(OFHX wH e
B1A(A13.016)
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NAIRESMSAAE XS4 99,987 91,255 8,732
1)REAO0ITIOIAAE SXIE4 233,752 223,752 10,000
DTUESAIAE SRS 13,686 12,471 1,215
NADIE 2N S8 2UE |2+ 46,757 43,863 2,894
NelEXls 28 | 6,784 6,784 (02ZXSZ2R =Xl
s AREING, 784)
DA DIEHHA EHOIX |XIL 6,328 6,328 |OBIEHH A EHIOIX]
S A7(6,328)
DeEHYUAEHIA 01823 63,336 62,736 600 |O2IE, al&d S At
22 ZIH600)
N&E83ld 0122=(HI0IH, 34) 68,112 68,112 0
N&Est 0l2e3 213,708 213,708 0
e S0 0lges 59,400 50,484 8,916 |0t SJI== A&
£t 4%(8.916)
405 THAHFESHI 1,716 61,200 N59,484
01 XL ESF=SHI 1,716 61,200 A59,484 | Ogh=es)| WAl
_ - 22(261,200)
DNEY SETMAZXI(3KVA) LAl 1,716 61,200 A59,484| Hrge SXEE
A WHI(1.716)
MBS B 673,600 677,300 23,700 150~151
201 2EeH=EHI 10,000 10,000 0
01 AtR2teld 10,000 10,000 0
1)E1PC JHl A28 F0H 10,000 10,000 0
405 KHAHFESHI 663,600 667,300 23,700
01 A =SEH S 663,600 667,300 23,700
DCRISARIDN(EAHEH]) wH 20K 663,600 667,300 A3,700 | OCDISAR1I] 1A
- CHaS 13 (A3,700)
2)ZFH(ZH) 444,000 420,000 24,000
2)2LIE(242!X1 Ol4Y) 153,600 189,000 /35,400
2)ZEIH (M SH) 40,000 44,300 24,300
)LES 26,000 14,000 12,000
HZ2LZH(FESA) 100,380 111,468 11,088
JlI238H| 100,380 111,468 11,088
JlI238H| 100,380 111,468 11,088 152~153
201 2EH=EH] 46,788 50,820 N4,032
01 AtR2teld 46,788 50,820 4,032
DAIRES & #FHH 425 04 10,500 10,500 0
1J|2de#=2| 36,288 40,320 A4,032 [O=2H| 29(~4,0)
202 04l 49,392 56,448 AT7,056
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04 EASEHR=AH 4,200 4,200 0
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212 A2 49 1,800 2,880 A1,080| O ERIZ =012
SRS
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3)50% OILH 170,442 162,501 7.941| (0= 10 2002)
3)50% Ol4t 2,537,654 885,228 1,652,426 | OLEX23|4=Al14
BRICHD} OlA}
NLERLAZSAIL B2 6,601,001 5,092,333 1,508,758 (75.00021—09, 349!
DMEHIIS BYLHE 4,967,597 3,568,750 1,408,847 | ST IS
P)UXMKAS| Al SHEED 1,433,494 1,333,583 99,911 (28, 1052—28,6672)
2)UHIIAS|IAAIE TS0 SHFLZ 200,000 200,000 o| Or=2lEX
1)ASHHD|2 212+ QIEFH 2IH] 985,500 0 985,500 | 22 FIEAC
308 XHXISHHISOIA 463,156 439,282 23,874
07 XXISHHRIRe2 463,156 439,282 23,874
NHIIEM2eg2 463,156 439,282 23,874| OBDIZ Helz =0t
(55E—58E)
2)ATAMEK B2 332,3% 315,137 17,189 OEPIZ H2lzk =0t
. (130E-137E)
2)URRIRZ| Al 22 130,830 124,145 6,685
HEHIIZ HMel 1,587,720 1,587,720 0 200~201
201 Y29y 40,320 40,320 0
01 AlZ2/H| 40,320 40,320 0
NUSEIIZ tHEaDZSoIMS T 21,000 24,000 A3,000| O=z20! HiEaID
=tz =40
NHHEHDIS A DES 9,600 9,600 0] 2to4( A3,000% )
(DIZMELIAR) oIMS 7Y OHHHEAIAE!
NOEEDIS 2 i AL 282 HIX 3,000 0 3,000 & HIE A8
_ ) (3,000&81)
NHIIZ 25 S8 6,720 6,720 0
307 QI2H0I& 1,547,400 1,547,400 0
05 QI2teEr=2 1,547,400 1,547,400 0
1) DR XIBHISIH AN EDIZ ISl 1,328,400 1,328,400 0
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SH - BB SRA(S) - MITAY - BAR ofl e Gae | wmsz | maE) as MO
NHSH ISl 165,000 165,000 0
NHEZIA HAURLIES 54,000 54,000 0
A4HD|IE 22 2,770 2,770 0 202~203
201 ZEH2EHI 1,420 1,420 0
01 AtS2teld 1,420 1,420 0
NHEHDI2 & 2 620 620 0
NAHZE HHE 1= 800 800 0
2)0tA(KFHA) 2 560 560 0
g 5 2 240 240 0
203 ¥4 1,350 1,350 0
03 AIMFAHR A 1,350 1,350 0
NALHIISR| o 1,350 1,350 0
SHCIAE &= 1,719,110 1,007,559 711,551 204~205
201 ZEH2EHI 653,210 666,659 13,449
01 AFS2teld 653,210 666,659 A13,449| OFAXE FXHE
=1 BE5t oI
1)J122840/925 420 420 0| 24 (A11.664)
NELANLE 2XEHER 652,790 664,454 211,664
203 YRF&HI 900 900 0
03 AMFANHRZ=A 900 900 0
DEJISHRIN &5 o %00 900 0
401 AlIZHIZL S Y] 1,065,000 340,000 725,000
01 Al&Hl 1,065,000 340,000 725,000 O=LZ 1t 0
DELAXE =XE 2 450,000 107,500 342,500 e Shdl =
NEAXZ =XE = 615,000 232,500 382,500
HIIE =828 I 23,434,325 18,400,000 5,034,325 206~207
307 QIto|d 23,434,325 18,400,000 5,034,325
05 2IRIREZ 23,434,325 18,400,000 5,034,325 | OZ SR = 2H
NASHIIS 282 20,000,000 18,400,000| 1,600,000 %;é’é%pﬁ?)’oﬂ%{t%
NUEHIIZ +52 3,434,325 0| 343,35 aiﬂjmg%ga
Xl & 2l 4,599,180 4,656,376 A57,196
ATt e 54,000 343,000 289,000 208
405 X SH| 54,000 343,000 289,000
01 RIS SFSHI 54,000 343,000 289,000
NELEEHIH(ZEHEY) 54,000 343,000 289,000
ESEN 168,440 115,330 53,110 209~210
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SN BB S9I(ED) - KIRAY - BaS I Gae | vmsz | maEm) as |H
)88 6,000 4,500 1,500
2)5t= 3,000 3,000 0
2) &S 640 640 0
2)2 440 440 0
2)& st 160 160 0
NAs 2 E5HAZ 7Y 1,500 1,500 0
N&AOAS 3,600 2,700 900
NEAXDX EXMNER 50,440 48,888 1,552
02 3324 654,750 630,750 24,000| OBl &
1)E2E6E S ZHIKX| 28,800 28,800 0 NE el S
2)EAXIX AlE 2| 14,400 14,400 0
2)82E5HE =&KXl 14,400 14,400 0
Naxt 2+A8 || 4,050 4,050 0
NeE=z 46,200 46,200 0
2)UE 24,000 24,000 0
)58 19,200 19,200 0
2)28 3,000 3,000 0
DEER=E M aE= = 8,400 8,400 0
DNEAXE RABI(HE, =2l S) 502,500 478,500 24,000
2)UE 240,000 240,000 0
258 240,000 216,000 2,400
2)aE 22,500 22,500 0
NEILS 21,600 21,600 0
NRESMREAEE 1,800 1,800 0
NaoteE 23 18,000 18,000 0
Dl=lE A== 960 960 0
Nedes ABR 840 840 0
1) A2 () 18,000 18,000 0
DNXDX § LFHIE 3,600 3,600 0
401 AlZHIYLSOHY] 60,000 50,000 10,000
01 Al&tl 60,000 50,000 10,000
DEA DX S>ZEMESAL 30,000 30,000 10,000 O=2t&otE 0I™
1) S2HGHE A, Z(24HI0IL) OIM3A 30,000 20,000 10,000 Sl Bd
405 KHAHFESHI 196,200 7,000 189,200
01 A =SEH S 196,200 7,000 189,200
DAY P27 20H(EED] 2 28) 2,000 7,000 25,000 O3 AEH
o] AABA
NEIICPHAI| 2 111,000 0 111,000 | (111,000&%!)
&I E2| 40,000 0 40,000 %Sgﬁiiﬁ
1)EAT22 SYSHAIAL (L2014 43,200 0 43,200| 28l H7ES
(43,2005 &)
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SA - BB SRI(E) - KIRAY - BAS o vy Gae | wmsz | maE) as | H0E
M| Soed| el 338, 754 276,014 62,740 218-220
201 Lsregy| 93,314 79,174 14,140
01 Ar2aelt] 72,926 57,886 15,040
MED| RES)| 2 2ES KX 34,800 34,800 0
2)MYI| RHEI| 2B M 0,000 0,000 0
2)MYD| DEISI| ZDE M 16,800 16,800 0
)M DEHEI| 2R BaDt = 8,000 8,000 0
RRME ST ZASIHE ADE 4,680 5,040 £360 | OBTIMIERAIHR!
DHLIE & 242 (2BO-06CH)
NZADHRE |XI22 A 3,900 4,500 AB00
ZABIHE ADE DAL 1,546 1,546 0
2)hEI2l DA 1,100 1,100 0
2) A3 D 72 72 0
p)ZaAsIA I I DA 374 374 0
)2DRH0IE SXEL B UL ADE 8,000 2,000 ~4,000| OZTRI0IE SXE4
DHEIE 4 24A{T200H-80CH)
PHET] S U MR A 20,000 0 20,000 ORI S
o HAMT| AR
2)RHIET| YAHS THEK 8,000 0 8,000| (30 oooist)
2)2CIS)| SERIEE DHEX 2,000 0 2,000
2 BB 20,388 21,288 A0
2ES2 4,068 4,068 0
2)MYD| REHSI| BEHR SIISH 3,086 3,036 0
2) MY RESI| DEHD UBISW 1,082 1,032 0
2292 1,700 2,600 £900| OBTIMIERAIH!
2)BIRIMIE SEST| AN D122 2,340 2,500 Atgo| T AEHE
D)RIHIME REIS| 2SN S 9,360 10,080 AT20
OIEY 23
1) RHIAIE SEHED| 2AB KR RXIR2IHI 4,620 4,620 0
203 =] 1,440 1,440 0
B AIMEXHL=AY| 1,440 1,440 0
M| 2oe)| 22| YoEd 1,440 1,440 0
301 LerEMI 2,000 2,000 0
14 JIEr2AR 2,000 2,000 0
M| RHS)| ADTAS 2,000 2,000 0
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SA - BB SRI(E) - KIRAY - BAS o vy Gae | wmsz | maE) as | H0E
401 AlZHIYL RO 242,000 193,400 48,600
01 Al&H| 242,000 193,400 48,600
DZAISt2E Ol A XL 3,000 3,000 0
NZAIIt0I2E 08 &xX 126,000 98,000 28,000 [ O2FA! Stoilet
AR O 24
2)0ls4! ZAPHHIRH FOHEXI(F S=RIE0) 30,000 0 3,000 (15CH—5CH)
2)01S4l ZAIIt0It R2OH&X 80,000 40,000 4,000
2) XA 2ZAIIt0I2H R2OHEX 14,000 56,000 42,000
2)IXE E0 FO0HEX 2,000 2,000 0
DAL J18F ADIEZAITHOIZE ROHE X 90,000 0 90,000 O+ LM Al
(7 F2EMN) AREA
1)E102t0I1E 01 &X 23,000 92,400 269,400 OZ22t0IE &l
EXI Z2(80CH-200H)
2)2112I01E M 23,000 92,400 269,400
StEA 2 Falx 2 90,673 99,416 N8,743 221~222
S5 a4 2l 56,177 64,920 AB8,743| O Leti1SSaEa
= ool 22
201 2EeH=EHI 56,177 64,920 A8, 743 SHEA 24
01 AtR2teld 35,230 32,445 2,785
DAYD =18 RASE 7L 150 225 NT5
2)50L 85 150 225 AT75
NigsEs 22 72 23,040 21,600 1,440
N33 28 72 2,240 1,800 440
IHESHEA oHfEN 22 & & 4,800 4,320 480
NEE3EA 22X 22X UE= 5,000 4,500 500
02 3324 20,947 32,475 211,528
1EEA AIZ8EHIR XY 2,880 4,320 A1,440
N&EIRS 2,400 5,040 A2,640
NelaY SHes 19 180 N61
1)SSSIEA JMO|orM 22| CHEt| 130 195 265
NaoteE AR 2,400 2,880 A480
Nek+=Hg 150 300 A150
133t FAEYH 12,868 19,560 26,692
Zstx 2te| 34,496 34,496 0 223~224
201 ZEH=EH] 34,496 34,496 0
01 AtR2teld 12,840 12,840 0
NESIE MA oI 12,840 12,840 0
2)E3IE HA QHAZ 214 2,550 2,550 0
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_ _ - PSIE o4
SN - ZE - S2I(3) - AITAE - BAS I S HDSZ | maE) As | M0
1)OFOIATY OFAL AEID HIZ 7,920 14,000 26,080 | OOKOIAH Il
JGF 0“ [[I.E JFOH
DOHOIAE ) - AS - HIH 84 43,200 59,760 216,560
02 232EH| 31,794 30,831 963
NHgE 489 At 288 234 234 0
DHEE dEE 41Uz Azt 480 480 0
NHEE dEF FI|ord2te| Ha| 16,200 15,000 1,200| O&J|etA 2te]
- _ CHad| &=
NHEY - 20 R01g|2D] M| - Sl 2,880 2,880 0
1ADIE B0/ Xts3l=D| RXA2teld] 12,000 12,000 0
203 R4l 1,440 1,440 0
03 AIMZANHRFLH| 1,440 1,440 0
NHes 2y qRFx 1,440 1,440
307 2I20l& 6,732,000 5,724,000 1,008,000
05 QIZtRIE= 6,732,000 5,724,000 1,008,000
DHEEHEE 22 2 HHE Mol 5,544,000 4,536,000 1,008,000 | OMEF Q24| &
= . _ P &= xelbl S
NHEEMEE M8 =1t HEEE 1,188,000 1,188,000 0l et am
el
401 Al&HIZLSCHYI 50,000 50,000 0
01 AlZHI 50,000 50,000 0
DHsSHEE SH2MHE ZA 50,000 50,000 0
405 THAHFESHI 31,200 280,000 248,800
01 A =SEH S 31,200 280,000 A248,800
NeF+=HE 22| 20,000 280,000 A260,000| O2F+HE &H
WHIZ AAEX 2
DHEZS L HASIE 8 HESNE 11,200 0 11,200 O =2&H0 04k
29)(7 FOIF0) AREY
SAEFHDIE =HEI| 2l 295,680 259,200 36,480 229~230
201 LBt2A| 26,880 24,000 2,880
01 AtR2teld 26,880 24,000 2,880
1)=HED| 2| 20Y 12,000 12,000 0
DEMSED] HHER M 204 14,880 12,000 2,880 | OHHERAN F0HED}
AP
307 2120l 268,800 235,200 33,600
05 BIZteE= 268,800 235,200 33,600
N8ASRHEDIE =8I NEEY 268,800 235,200 33,600 [ O=HEI| HIH
Ot &
SASFHDIE HMel 6,346,633 6,112,629 234,004 231~232
201 2EeH=EH] 21,000 40,124 A19,124
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SA - BB SRI(E) - KIRAY - BAS o vy Gae | wmsz | maE) as | H0E
01 A2l 13,920 33,440 A19,500| OSSEE AL
1)SAR SYH LRLS(AEH) M 13,920 13,440 4g0| % EH S
2 ZZ2gH| 7,080 6,684 3%
)L PES SHAALY Q24 7,080 6,684 396 | OSTEA Bt A5
307 SI2H0IA 6,325,633 6,072,505 253, 128
05 DI2SIErE 6,325,633 6,072,505 253, 128| Om=El, 2121H] =
DENEES HIEW T 6,325,633 6,072,505 253, 10| S0 EHES
SAZZHIIZ 242 STRAIR A 665,480 627,800 37,680 233234
Al 201,915 201,075 840
2 463,565 496,725 36,840
201 2er=gh] 8,780 6,000 2,780
01 ARl 8,780 6,000 2,780
AP =2 HE S 2,000 2,000 0
1AYBTUE AlaAl S 400 400 0
12ASBRUE AL T 3,600 3,600 0
1)RFID 20| ASIIE S| | 1,320 0 1,320| O=2101 n=3ICE
SO 2 AlFBA
1) SASMADIS(120L) P 90 0 00| Ogiz=er z2)
SO0l T2 AEA
1)EDBIIBS] BarT 560 0 560
203 YPEAL] 1,800 1,800 0
03 ARERR=AIY| 1,800 1,800 0
1) SASMYD| SYH 22 S ADSA| 1,800 1,800 0
401 A= 138,500 106,000 32,500
Al 21,175 21,175 0
2 117,305 84,825 3,500
01 Alt] 138,500 106,000 3,500
1RFID Z27] ®IIZAF 15,000 15,000 0
Al 5,250 5,250 0
2 9,750 9,750 0
1) CHRZIZED] ®IIZAH 45,500 45,500 0
Al 15,925 15,925 0
2 29,575 29,575 0
1) CHRZZT] BHRE ZAM| 78,000 45,500 3,500 Oslea DA 5
405 XraHEISH| 516,400 514,000 2,400
Al 180,740 79,900 840
2 335,660 334, 100 1,560
01 KALEEH=Y) 516,400 514,000 2,400




SN BB S9I(ED) - KIRAY - BaS I Gae | vmsz | maEm) as |H
1)RFID S| 0K 87,400 85,000 2,400 |OXE 70 B} a5
Al 30,590 29,750 840
T 56,810 55,250 1,560
DOE2Z0 F20H 429,000 429,000 0
Al 150, 150 150,150 0
T 278,850 278,850 0
IMXILI=EE &4dst 14,480 10,790 3,690| OHEE0Y & 235~236
201 LBr2gy| 14,480 10,790 3,690 %5';2””“'
01 AtR2teld 14,480 10,790 3,690
DIXLISEE AIRES 7204 3,500 3,500 0
Ditets gxz 1,500 750 750
IHEOEHE Xtz 1,600 800 800
1ScHEolE itz 1,600 800 800
EetAE okt Xtz 600 300 300
NEEIHS dxtz 480 240 240
1IHHE Lh 200 100 100
N=ExE L 200 100 100
1EEEH L X2 1,200 600 600
NE= S 3,600 3,600 0
nsl=sge 24 5,000 5,000 0 237
201 2EeH=EHI 5,000 5,000 0
01 AtR2teld 5,000 5,000 0
1) AIEHI 5,000 5,000 0
SASMEE HESEZANE ALY 558,414 11,550 546,864 238~239
201 ZEH=EH] 82,750 11,550 71,200
01 AtS2teld 73,950 11,550 62,400 [ O0IsA 2cl=Hg!
XA Al
1)2el4a8 PYHI(DIA) 9,100 9,100 0f (zoruei)
10 S S3572HI(DEA) 2,450 2,450 0
1Ecl=Hg M=(0ls4l) 7,200 0 7,200
1HIL0H e (01=4l) 33,600 0 33,600
NEL S 28 Fu(0Is4) 16,000 0 16,000
1NEEE HE(0IS4!) 5,600 0 5,600
02 232EH| 8,800 0 8,800| O0I=A! 2el==HE
XA &l
1XRBRIA SRR E(0IS 8,800 0 8.800| (motxjel)
301 2EEdS 475,664 0 475,664
14 JIEtEa= 475,664 0 475,664 | O0IsA! 2el=Hg
XA &l
DX ZeIAL 2=HI(01S4A]) 433,664 0 433,664
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